Sample Pre-Assessment (Determining Main Idea or Problem)

1. The “Middle East” is not a term Middle Easterners gave themselves, but a British term borne of a colonial, European perspective. The term’s origins are seeped [steeped] in controversy for having originally been a European imposition of geographic perspective according to European spheres of influence. East from where? From London. Why “Middle”? Because it was half-way between the United Kingdom and India, the Far East.…

— Pierre Tristam, “What is the Middle East?”

Which term is most closely associated with the main idea of this passage?

(1) interdependence 

(3) containment

(2) pacifism 


(4) ethnocentrism

______________________________________________________________________________________
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2. What is the main idea of this cartoon?

(1) Riding a horse is more dangerous than riding in an automobile.

(2) The use of bio-fuels made from corn will improve automobile safety.

(3) Using corn to make bio-fuels for automobiles will increase food shortages.

(4) Feeding corn to horses is less efficient than using it to make fuel for automobiles.

______________________________________________________________________________________
3.  … For Ukraine, however, contamination via river water is still a major problem, since most of the rivers flow southwards. To slow the spread of radiation, protective dams were built along the Dnieper after the accident. “But of course not all riverbanks could be protected in this way,” as the Ukrainian government agency Chernobyl Interinform points out in its summary of the situation. “Particularly during flooding, radiation is still leached into rivers. This is a particular threat for the 30 million people who obtain their drinking water from the Dnieper basin.” …

— Chernobyl.info

The aftermath of which problem is being described in this passage?

(1) volcanic eruption 

(3) global warming

(2) nuclear disaster 

(4) deforestation
_____________________________________________________________________________________________________
4. In 1970, a deadly disease spread through corn crops in the United States. Scientists discovered that 80 percent of the corn contained the gene that made the plants more likely to be infected with the disease. This problem might have been avoided if the cornfields across the country had had more

(1) large predators to control parasite populations

(2) selective mutations

(3) genetic diversity

(4) breeding of infected plants

_______________________________________________________________________________________________________________
5. Prions are proteins that act as an infectious agent. They cause a variety of diseases, including “Mad Cow” disease. Prions cannot produce more prions on their own, but cause the host organism to replicate more prions. Most scientists do not consider prions to be alive. A valid reason for accepting that prions are nonliving things is that

(1) no living thing can cause a disease

(2) proteins are inorganic molecules

(3) prions contain all of the material needed to reproduce

(4) prions cannot carry out reproduction independently
6. The Old English Bulldog is extinct. To produce a new English Bulldog, dogs having the desired physical features, but not the aggressive nature of the old bulldogs, were mated. The result was a bulldog that was similar in appearance to the extinct bulldog, but without its fierce nature.

Which technique was most likely used to develop this new variety of dog?

(1) cloning

(2) inducing mutations

(3) genetic engineering

(4) selective breeding
_______________________________________________________________________________________________________________

*7. The account opens with a characterization of Harpo Marx as someone with 
(1) financial goals

(2) suspicious behavior

(3) fleeting fame

(4) contrasting talents

_______________________________________________________________________________________________________________

*8. In his autobiography, Marx reveals that he considered Harpo the clown on stage as

(1) a character that he played

(2) an emotionally liberating experience

(3) a symbol of modern man

(4) a physically challenging routine
_______________________________________________________________________________________________________________

*9. As described in the passage, Madame Brassart’s policies caused the narrator to feel

(1) overworked by unscheduled assignments

(2) frustrated by large class sizes

(3) desperate for financial support

(4) embarrassed to ask for assistance
_______________________________________________________________________________________________________________

*10. According to the passage, scientists are now discovering that some icebergs are able to

(1) provide power 
(3) warn sailors

(2) produce echoes 
(4) sustain life

_______________________________________________________________________________________________________________
*11. The first paragraph suggests that the author’s initial experience with knitting was

(1) unsuccessful 

(3) distracting

(2) inspiring 

(4) addictive

_______________________________________________________________________________________________________________

12. A car uses one gallon of gasoline for every 20 miles it travels. If a gallon of gasoline costs $3.98, how much will the gas cost, to the nearest dollar, to travel 180 miles?

(1) 9 

(3) 45

(2) 36 

(4) 80

_______________________________________________________________________________________________________________

13. A bag contains five green gumdrops and six red gumdrops. If Kim pulls a green gumdrop out of the bag and eats it, what is the probability that the next gumdrop she pulls out will be red?

(1) 5/11 

(3) 6/11

(2) 5/10 

(4) 6/10

_______________________________________________________________________________________________________________

14. Which verbal expression is represented by 2(x+4)? 
(1) twice the sum of a number and four

(2) the sum of two times a number and four

(3) two times the difference of a number and four

(4) twice the product of a number and four
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